Problem and Solution

When authors are writing about a solution or solutions

to a problem, they will use this text structure.
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How could this graphic
organizer help when describing
the solutions to a problem? An
example would be when Louis

Braille developed a way for
blind people to read.

Clue words: problem, dilemma, solve, solution, because, since, fix, repair,

resolve, answer
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Cause and Effect

When authors write about events that cause
changes or that lead to other events, they use
a cause and effect structure.

ErfFeey
The RESULT-
WHAT happened.

Couse
The REASON-

WHY something
happened.

Clue words: cause, because, effect, therefore, as a

consequence, as a result, if..then, due to, since, reason, led to

How could this graphic organizer help when describing
the effects of global warming?
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